
中３ ３月③ 展開② 

 

  

 (𝒂 + 𝒃)𝟐 = 𝒂𝟐 + 𝟐𝒂𝒃 + 𝒃𝟐 

 (𝒂 − 𝒃)𝟐 = 𝒂𝟐 − 𝟐𝒂𝒃 + 𝒃𝟐 

 

 (例) 次の式を展開しなさい。 

 (1) (𝑥 + 3)2 (2) (𝑥 − 5𝑦)2 

 

 

 

 (3) (𝑥𝑦 − 8)2 (4) (3𝑎𝑏 − 5𝑐)2 

 

 

 

 

 

 

 

 (𝒂 + 𝒃)(𝒂 − 𝒃) = 𝒂𝟐 − 𝒃𝟐 

 

 

 (例) 次の式を展開しなさい。 

 (1) (𝑥 + 6)(𝑥 − 6) (2) (𝑎𝑏 − 1)(𝑎𝑏 + 1) 

 

 

 

 (3) (4 − 3𝑝)(4 + 3𝑝) (4) (−3 + 7𝑎)(3 + 7𝑎) 

 

 

 

 

 

 

 

 

 

 

☆公式 

☆公式 



１ 次の式を展開しなさい。 

 

 (1) (𝑥 + 2)2   (2) (𝑎 − 8)2 

 

 

 (3) (𝑥𝑦 − 1)2 (4) (𝑥𝑦 − 15𝑧)2 

 

 

 (5) (6 − 𝑚)2 (6) (3 + 𝑎)2 

 

 

 (7) (2𝑥 + 3)2 (8) (5𝑎𝑏 − 4𝑐)2 

 

 

 (9) (3𝑥 − 4𝑦)2 (10) (3𝑥 + 𝑦)2 

 

 

 (11)   (12)  

 

 

 

２ 次の式を展開しなさい。 

 

 (1) (𝑥 + 3)(𝑥 − 3)   (2) (𝑎 + 5𝑏)(𝑎 − 5𝑏) 

 

 

 (3) (𝑚𝑛 − 4)(𝑚𝑛 + 4) (4) (6𝑥 − 5𝑦)(6𝑥 + 5𝑦) 

 

 

 (5) (3𝑝 + 2𝑞)(3𝑝 − 2𝑞) (6) (17𝑎𝑏 + 19)(17𝑎𝑏 − 19) 

 

 

 (7)  (8)   
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